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the title page of the answer-book.
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e Please check that this question paper contains 19 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 41 questions.

¢ Please write down the Serial Number of the question before
attempting it.

¢ 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)  §F 599 YT & 2 97, 9T N N AW T, F FleT WA § | A g 9p
& yvEl & I for@d 7 |

(it) T4 577 AT &

(ii) R F9T YT W B 997 TG T & Wg Gea-vig SH & a7 5w § 5
At g7 fogr mr 8 | 37 NV § 39 dF9e ¥V Hiod v 999 F IN
fet & foT 97 590 7 |

(iv) S9! YT 3 3 4T T & TH TFH & I GUG-59F 9T YR T @ g |

(V) ST HF I EET ]I FL F 597 TF-U% 3% % £ | 9% Io0 0% 7=
Y TF T H 7 |

i) ST HF TTEETSE T 18 F 9T -3 HF & E | I I TTHT
30-30 vl ¥ 37 & )

(vii) T F & §¥T &5 14 G 22 & 5¥F AA-04 @l & & | 39 I AT
50-50 =l F & & |

(viii) 9T 3 & ¥¥T GEW 23 ¥ 25 3 ¥4 Ua-Uid SHF & B | 39 I AU
70 =t ¥ 23 F 4

(ix) 97T § & ¥97 97 26 § 41 F 599 TUAF FI9T T AR
97 £ | 5% §v U HF FTE | fFw W an Ay ¥ 7 3E 69 UF
qad 39g faweq g9 & |

General Instructions :

(1) The question paper comprises of two sections, A and B. You are to
attempt both the sections.

(it}  All questions are compulsory.

(iiti) There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

(iv) Al questions of Section A and all questions of Section B are to be
attempted separately.

(v)  Questions number 1 to 4 in Section A are one-mark guestions.
These are to be answered in one word or one sentence.

(vi) Questions number § to 13 in Section A are two-mark questions.
These are to be answered in about 30 words each.

(vii) Questions number 14 to 22 in Section A are three-mark questions.
These are to be answered in about 50 words each.

(viii) Questions number 23 to 25 in Section A are five-mark guestions.
These are to be answered in about 70 words each.

(ix) Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each gquestion is a one-mark
question. You are to select one most appropriate response out of the
four provided to you.
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SECTION A

1. 3 FEfas e & g 9o @ AW ud i fafan, e veaies 99 - OH
2 1

Write the name and formula of the second member of the carbon
compounds having functional group — OH.

2. THE 3 ¥ A ¥ UF FE 1 IoE FU | 1

State one function of iris in human eve.

3. F BT 8 VW ARV & Jeden TR W I FHE Al TOATH! (Ao e W

fomen g € 7 1

What happens when higher energy uliraviolet radiations act on the
oxvgen at the higher level of the atmosphere ?

4, fodl smn JEa@ # afc s@EEF W W 10,000 @ HA 9e= g, a fgoaw
TN & I JOrgE SUEE & AR &4 & fAu SS9 aves g o7 1

In a food chain, if 10,000 joules of energy is available to the producer, how
much energy will be available to the secondary consumer to transfer it to
the tertiary consumer ?

5. A= T T few o z
ﬁc! HD" mNE, I]Naﬂ 14Bi
(i) 7 ¥ @ 9= ghC | uw wEd g4 =il |
(i) ¥ 37 a= g 57 s w9F § @ AR
TE YR § 39 9 & fow sw fafaw 2
Choose from the following :
6Cs 50, 1oNe, ;3Na, 4,51

(i) Elements that should be in the same period.
(ii) Elements that should be in the same group.
State reason for your selection in each case.

6, ®E d K HEA GON F AGL NEd a9l Ted G W & | W« (i) W
Al e, (i) 3 S fofaT | 3T I F GRT ofe O SRl . 2

An element X' belongs to grd period and group 17 of the periodic
table. State its (i) electronic configuration, (ii) valency. Justify your
answer with reasoning.

311 3 P.T.O.
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7. =9 Sig F Am fafEe, S odm) e T T S 30 WO 7 | 3W T FEEd
ufifeafaal 1 HE AR S e & I () 9 3f H F FEEE E 2
Name an organism which reproduces by spore formation. List three
conditions favourable for spores to germinate and grow.

8. o F fomm # wE=T & 9fFH 1 Ieo@ S | 2
State the role of placenta in the development of embryo.

9. W U aE TR T EW @ yE R # ITE wd € 1w fRw @
704 34 YER fma e € fF i ¥ wEeA & qven 39 feun ¥ & O
B | 3 T fav & ge AR 997 WEed § 9vE S99 G & 3werd A |
= 0l & ITEM W dEed S0V F Wied 99 g%l 5 & a fom fam
afafara 3t feafa s/ Fifaw | 2

To construct ray diagram we use two light rays which are so chosen
that it is easy to know their directions after reflection from- the
mirror. List these two rays and state the path of these rays after
reflection. Use these rays to locate the image of an object placed
between centre of curvature and focus of a concave mirror.

10. ft 5 ¥ sy 3 @0 9 F e Fords & e w s G S gl
& fou amifss feo smm difaw | 2
Draw a labelled ray diagram to illustrate the dispersion of a narrow beam
of white light when it passes through a glass prism.

11. &9 § us a0 #0 andfes fefd § §9 oW (39 W) ¥9E 4 € | AmifEa
HAE & dgEal 9 3Ha ATA Hifad | 2
A star appears slightly higher (above) than its actual position in the sky.
[Mustrate it with the help of a labelled diagram.

12, 92 9 F v § 3w d9 gyl 5 3 wse )o@ wwens = =% e
gy | 2

List three problems which arise due to construction of big dams.
Suggest a solution for these problems.

18, Shared §ot F @@ § 309 I A gE a9 | T T2 WO gEEE A
g2 2
List the products of combustion of fossil fusls "What are their adverse

effects on the environment ?

Y
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15.

16.

17.

11

Fafa AT & qeeerg 4ol § w2 aed 2 7 e gnenay deft F 9 wedli &
TErtE 97 fafan &t 38 am & geohg s St o3 A & ) s o,
(i) Temafaw e, @ fraifie w2

What is meant by homologous series of organic compounds ? Write
the chemical formulae of two members of a homologous series and
state which part determines the (i) physical properties, (ii) chemieal
properties, of these compounds.

Na, Mg @41 Al & 79 € foeil  d9i9sar soEerl & W& &AyE UF, o a4 b
g1 3 () Fresl sy fen wifYsan g, (i) 9F 998 &9 sifafmanda @ 2
ToE F fw S <@ o0 IW F 7T Sife |

Na, Mg and Al are the elements having one, two and three wvalence
electrons respectively. Which of these elements (i) has the largest
atomic radius, (ii) is least reactive 7 Justify your answer stating
reason for each.

m-fy & = fafed S g aRT 6E s W gy § we S

List and explain in brief three methods of contraception.

At 79 wEd g TG F o () WX F 9Hl W yE gNE § a4 (FeE)

R & O F der w0 A oeH F, 9 F e % 09w @ 1 @ 3k e

F, 961 & 723 & i &1 =-%901 &0, 7 7 F, 9 F % & wh oW

2

(a) F,WF & @9 37 fad 3 2

(b) F, Wi ¥ o ol aur & ol @ s w4 AW ?

(¢) 3F ¥ER % 1€ & e Fifee St Fy, 9 § F femd fw 4 g F,
G gl & | S ¥ few e AR

If we cross pure-bred tall (dominant) pea plant with pure-bred dwarf
(recessive) pea plant we will get pea plants of F;, generation. If we
now self-cross the pea plant of F, generation, then we obtain pea
plants of F, generation.

(a) What do the plants of F; generation look like 7
(b)  State the ratio of tall plants to dwarf plants in Fy generation.

(c)  State the type of plants not found in F; generation but appeared
in Fy, generation, mentioning the reason for the same.

5 P.T.0:
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18, IUSW TV SR SETEE U W faEed & A o FEmest & g
Al & [R50 | Y @ UE-Us IR 9 e | 3
List in tabular form two distinguishing features between acquired traits
and inherited traits, with one example of each.

19, Starys &9 yoR a=d § ? Siawdt # eng feife #@ & @ fafes & geg
o FfAT | 3
How are fossils formed ? Describe, in brief, two methods of determining
the age of fossils.

20, TN UH WRIERMRGT & (i) W I (i) WF 7 9, F IwEm e w6 A
T & VEN @ Ieoh@ FOW | gEw TEWT § a9 It & gfe & feg amw
fafay | 3
State the types of mirrors used for (i) headlights and (i1) rear view mirrors,
in cars and motorcycles. Give reason to justify your answer in each case.

21. 4 cm ¥l FE T 24 cm BFE TH & 0@ A9 F T Y & ofead, 49 8 |
fae &1 o9 ¥ T 16 cm 8 | ®E G = IWEM w0 &4 A0 Sfafas i ff,
HES UE WHA WA Few | 3
A 4 cm tall object is placed perpendicular to the principal axis of a convex
lens of focal length 24 em. The distance of the ohject from the lens is
16 em. Find the position, size and nature of the image formed, using the
lens formula,

22, ¢ HfYs g @ At @ F 1 m ¥ w4 gl © ferd awgsl B Wy @ @ o
2| 9% frg 2f 3 @ difgq 2 7 Toay dvivg o veR fer W mEar ® ? @
(i) 2 3 R 3H% (ii) U999 & fow o foo ama @ien | 3
An old man cannot see objects closer than 1 m from the eye clearly.
Name the defect of vision he is suffering from. How can it be
corrected ? Draw ray diagram for the (i) defect of vision and also
(ii) for its correction.

23, ITHEA F E ? (i) Hyd FEsIEEAI, (i) FAEGDA FRSEEHl F AH T4 HHAE
F fafEe a1 ve% 7HR % UF TEEeEA % 9N @ @Ee | T swgw
gRSIEES & e YER G99 a9F 9 qedl 8 7 5

AT

T 2 ¥ HuEeE F=4T 7 99E §F fAU Humes = S99 = o WY
o wifd Ft T TR | 39 WA W R, SR 9§ S9N a9 SS9 SEE
B €, yar ¥ fou swse F I9E @4 # wRo S |

311 B
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What are hydrocarbons ? Write the name and general formula of
(i) saturated hydrocarbons, (ii) unsaturated hydrocarbons, and draw
the structure of one hydrocarbon of each type. How can an
unsaturated hydrocarbon be made saturated 7

OR

What are detergents chemically 7 List two merits and two demerits of
using detergents for cleansing. State the reason for the suitability of
detergents for washing, even in the case of water having calecium and
magnesium ions.

24, YT TN UF IGHW I UEHepl 99 IFErn T F A9 fO¥eT @ifsw | ww
s e affem W Wl & g evise g o wmi & amifEd
FifeT

(i) AR SAA-FIEH ()
(i) F SFE-FEH ()

(iii) ~ ATSYE 5
Jgan

qHd & gl 994 9 &1 3R Wieed Aefaian 9 s Aiiied sifar
(i) =8 97 S V= 3T Fal 2 |
(i) =% 977 W@l e ud YHO] F fEeE war F

(iii) @@ 9 W@ fufad swe (geae) wfee g #
W ARG e F fem A g 2 T@ T A 2 7

Distinguish between unisexual and bisexnal flowers giving one
example of each. Draw a diagram showing process of germination of
pollen grains on stigma and label the following parts :

(i) Female germ cell
(ii) Male germ cell
(iii) Ovary
OR

31/1 7 E.T.0.
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Draw a diagram of human female reproductive system and label the
part

(1) that produces eggs.

(ii) where fusion of egg and sperm takes place.
(iii} where zygote is implanted.

What happens to human egg when it is not fertilised ?

25, TieE YU G YHE & WEdA & fow q5 Fid g 9iael #i §E R | i
e Wiee W fag e & s o o e e S wie g uE g
Fi fuifta & # Fifqe & afo F 599 18 em g0 W fooa &R fm @ 1/3 T
safSe wE e wEfE = E 5

|
YT 01 3T 1 TEET O T F O AUSod & 39 F Ieoi@ HieT | NS
F vEae & fou |9 & faw =1 s9w #ifew a9 ° e e § = i
FifaT |
FE F TUH 9 F AEGAE 2/3 79 Ag F WA T FOATEAF 4/3 T |
afg =g § Y F oG 2 x 10° m/s #, A (a) 9 H, (b) F@ #H yEw F
e Fa Sy |

List the new Cartesian sign convention for reflection of light by
spherical mirrors. Draw a diagram and apply these conventions for
calculating the focal length and nature of a spherical mirror which

forms a 1/3 times magnified virtual image of an object placed 18 cm
in front of it.

OR
With the help of a ray diagram, state what is meant by refraction of

light. State Snell's law for refraction of light and also express it
mathematically.

The refractive index of air with respect to glass is 2/3 and the refractive

index of water with respect to air is 4/3. If the speed of light in glass is
2 % 10° m/s, find the speed of light in (a) air, (b) water.

31/1 8
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q oA
SECTION B
26. I Fehe a4 5% Tz & o faoas #ow Ral 39 § 1
(A) e sk
(B) &l 3t W=
(C) it #it
D e st =

The aqueous solutions of copper sulphate and zinc sulphate appear
(A)  blue and green respectively

(B) green and colourless respectively

(C)  blue and brown respectively

(D)  blue and colourless respectively

27, HW Ghe, A Tohe 091 e Tohe F [Head &40 M0 SR 3 W & I 11

7 111 3ifFd fF ™0 | 5% fooae # 39 255 UgWEHEE % = 0 | 59 W
YA W S T UREeS 9 S 1
(A) I#RIIH

(B) 11 &t ITT &

(C) TMIsRIH

(D) & A

Solutions of copper sulphate, iron sulphate and zinc sulphate are
prepared and marked I, II and III respectively. Few pieces of aluminium
are added to each solution. After some time a change will be observed in
(A) TandII

(B) II and III

(C) III and I

(D) All the three

31/1 g o 0
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28.

29.

311

TEAA § 2 mL 9 @t R 39 2 ml, vHifes e fremar s Seor wE
T g8 U T T

(A) & @ @ eyl FGa a5 o
(B) TCA & UF W @AY =l 7

(C) 2 9UF |aE &4 FE 2

(D) ® UM wd e E e g

On adding 2 mL acetic acid to 2 mL of water in a test tube, it was
observed that

(A) a clear and transparent solution is formed
(B) a white precipitate is formed almost immediately
(C) two separate layers were formed

(D) a colourless and odourless gas is evolved

et Wagaet § Sifegw gty FEbe ¥ s s oo @ i 29 g9 Em
F 8 6

(A) @r¢ stfafear & 2

(B) ey Ty i e A9 Free 8

(C) T i e A ¥ gemd A E
(D) fo & dwor iy et 2

On adding acetic acid to sodium hydrogen carbonate in a test tube, a
student observes

(A)  no reaction
(B) a colourless gas with pungent smell
(C) bubbles of a colourless and odourless gas

(D) a strong smell of vinegar

10

Ti-
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30. UHifew spa & fawa # A fRw o Bull H 8 w6@ ww w2 7 1
(A) Tz et foemw &1 oa K T § R 3 fava S iy s 2
(B) W vt feew F @ aX M ¢ W IHY Tord Wew F Y I 2
(C) = o foew F Fen & T 7 3% 99 faws o iy e @
(D) = @ foemm it Fer W W 2 SR W T @ Y At 2

Which one of the following are the correct observations about acetic
acid ?

(A) It turns blue litmus red and smells like vinegar
(B) It turns blue litmus red and smells like burning sulphur
(C) Tt turns red litmus blue and smells like vinegar

(D) It turns red litmus blue and has a fruity smell

31. ffl 29 & & W i ooy o @1 sfafe @ =& R U e dn A
Sre g fwifm &t 2 1| 3= ofony we F F fow 3R s F A 1

(A) =% TY g9 Aga fawelt 1 T

(B) @ gefl-uifa TEre Y TORA

(C) a8 99 & fasa & wew e

(D) YERTITET F AN % g9 AR W W "wE & s

A student has to determine the focal length of a concave mirror by
obtaining the image of a distant object on a screen. For getting best
result he should focus

(A) a distant tree or an electric pole
(B) a well-illuminated distant building
(C)  well-lit grills of the nearest window

(D) a burning candle placed at the distant edge of the laboratory
table

31/1 11 Pel0.
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st om 7 f5et @& 9w &1 3w 7 A S sEad S % W @ T W
o R | 3Es TvE 3E4 W W e v F @ W ovAm R | s T
e@m 1

(A) <0 & T §aR | Iatus guen sfafaa

(B) =dur § g9 & a1 Ud smaEfa wafra

(C) =E dfefam =@ == w1 F=ifE T & T 2

(D) T F BFE W g9 T HAfaF 9 § Ie1 N

A student obtained a sharp inverted image of a distant tree on a
screen placed in front of the concave mirror. He then removed the
screen and tried to look into the mirror. He would now see

(A) a very blurred image on the wall opposite to the mirror
(B) an erect and magnified image of the tree in the mirror
(C) no image as the screen has been removed

(D) a highly diminished inverted image of the tree at the focus of the
mirror

o IE Rl S O F WEw 2 Feifa s 2, A sy um e e 1
(A) UH Ina A9 IR

(B) U 3I0a @i 3N oF F LUE

(C) W = ®ve, T F ¥ 3R T T

(D) U IT@ AW, W W&, @ A F LT AR 0F oA

If you are to determine the focal length of a convex lens, vou should have

(A) a convex lens and a screen

(B) a convex lens and a lens holder

(C) a lens holder, a screen holder and a scale

(D) a convex lens, a screen, holders for them and a scale

12
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FE & WEAFE T F e ERA el Y e &1 09 sifEn & W w
T T FE BW AN § W e yeife sgea § gafem oftomy e Fom 2
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P, 9 P, o@ 3@ @M T8 f @ fefed ® 0 1
-\'._.l ,EE}P] EPI \.“‘
k@PI ﬂ\.‘ '.I'\‘ \E}‘Pl

oP; oL} oL oP,

I 11 II1 IV
(A) I
(B) 1II
(C) Il
(D) IV
While performing the experiment on tracing the path of a ray of light
through a rectangular glass slab, in which of the following experimental
set-ups 18 a student likely to get best results 7
P, and P, are the positions of pins fixed by him.
1‘1'\ k@\Pl ":E}\Pl x"-.

‘L@P]_ 1."1 \\\ '.QPI

®F; oF; ©P; ©P;

I II 111 IV
(A) I
(B) 1I
(C) 1III
Dy IV

1/1 13 P.T.O.
h—-
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35. 9N BH 4 F & AR ©F § T A a=l FHw S § AN g

31/1

FTAR 99 RfEa e |

NN XN

fFg 9@ % g0 nifag w9 & w6 84 & s dw=a g 2

I
(A) 1
(B) 1I
(C) III
(D) IV

N\

\\

\\

Four students showed the following traces of the path of a ray of light

passing through a rectangular glass slab.

AN LN, ..

I
(A) I
(B) 1I
(L) 11l
(D) IV

\

\\

The trace most likely to be correct is that of student

14

e ———
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36. FT T TFew F WSSl A @A % TyEm fofm eE 3 99 R v smm T

©c8 98¢

T wE e §
(A) I, II, III
(B) 11, III, IV

(C) HOLIV,V

M) LIV,V

Following diagrams were drawn by different students on having seen
prepared slides of budding in veast.

TR

Correct diagrams are

(A) I, II, III
(B) IL IIL, IV

(C) IILIV,V
(D) LIV, V
/1 15
B ——

e ——

P.T.O.
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37. ¥ Ru U fFw wE § ggem 7@ evia @ # ?

o .0 0%
009 &* 8 3 Q
© & 0
| I1 TIT
(A) I
B) I
©) I
D) IV

Page 16

In which of the following figures is budding net¢ shown 7

.
v
agg @95 nhoﬁ
oo @ Q10
© @@@E} ’

|

7

I I1 IT1 IV
(A) 1
(B) II
(C) III
D)y IV
311 16
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138, % amw ¥ avdtan § fg-wves <ot mn @ fome w9 wd 9@ 2 )

1/1

11
I 6 #9 8
(A) LI, I0, IV, 1
(By IIL IV, II I
(Cy I III, IV, I
(D) IV, III.II, I

Page 17

The following figures illustrate binary fission in Amoeba in an incorrect
Sequence,

II

The correct sequence is

(A)
(B)
(C)
(D)

IIL, I1, IV, 1
I, IV, 11, 1
II, I1I, IV, I
IV, III1, 11, 1

' K

P.T.O.
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39.

40.

3111

4 fow o st # ¥ 39 sww@l & g Soerfier & f-mves F w07 gvid €

Voo

IV v

(Ay I II, III (B) IV, II, III
(C) WV, II, III (D) IV, I, 111

From the following diagrams, select the correct ones showing stages
of binary fission in Amoeba :

I
(A) I, 1II, III (B) IV, II, III
(C) V, II, 1II (D) IV, I, III

et oe1 3 3o ufiel & dee 39@ 9 0 ifEd fFa | 3ud fe 39 feerfin
F T wa § o | @ 2 9ve & uvEn 394 feufhe & 99 § fee
3% e SR fem & dten @ik 39 R = Y cifse e | feufael g sewnfie ww
F sfoewar &1 frafor @ ¥ fow swdm e = a@ren dE @m

(A) =% % 100 B) £=% x 100
v X

o I=x 1;[: (D) (y —x) x 100
b4

A student weighed some raisins and recorded the weight as %X’ She
then soaked the raisins in distilled water. After about 2 hours she
removed the raisins, wiped them dry and weighed again and recorded
that as ‘y". The percentage of water absorbed by raisins may be
determined using the relationship |

A =X s 100 ®) ¥=* x 100
F X
@ I== Iéﬂ (D) (y —x) x 100
x
18

Page 18
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1 41. feofel g sEvifee ow @ sfanoa fFuffe =@ 3 @ d§ gn feofied 5
AT 1 A2 9% 9a § fee # 9ven s s 9r mod @ | ofomm #
T & fou, o & ol & = ¢ fofie 5@ &1 e o ¢ I

(A) TH 0 F TIEw

(B) "W &g &l (SAIBR) g
(C) @ & 3@

(D) fpeey 13 (Y9T) EW

In the experiment for determining the percentage of water absorbed
by raisins, we do the final weighing of the raisins after keeping them
dipped in water for about one hour. For the accuracy of the result,
the extra water from the surface of the soaked raisins is removed by

(A) rubbing with cotton cloth
(B) hot air blower

(C)  dry cotton wool

(D) filter paper
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